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The torque-speed curve is T, = -8w,, + 200.
Please
(1) Compute the G(s) =& (s) / Ea(s) T,
(2) Is it a stable system? Why?
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—. A system is shown in Fig.1. The input voltage is 100 V. (_25%)
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——~. Acontrol system is shown in Fig.2, G(s)=C(s)/R(s)
Please compute the followings: (25%)

(1T, (Rising time )
2)T (Peak time)
(3)T; (Settling time)

4 %0S  (Max overshooting)
(5) es()sep  (Steay-State error for step input)
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Speed(rad’s)

= B00 N-m-s/rad
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yield a settling time of 0.4 second and 30% overshoot.

R(s) + k )
s(s+a)

Fig. 3

U_U. For the system shown in Fig.4, please find K, and Kp to
design a PD controller so that the modified system can
operate with a peak time that is 2/3 of uncompensated
system at 20% overshoot and e, () 4, = 0.
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—— . For the system shown in Fig.3, find k and a to yy

s)

(s +3)(s +6)(s +10)




